ﬁ d =0T 2R (axt+by+ez=d)

b SEUE s it
dx— 1y + 5z = 49 2 lx—2y+4z=21
Sx—5y—4z=-5 2x+ S5y —4z =21
S5x+6y—1z=>54 6x+5y—1z=70

3. _ 4. B
Sx—3y+4z=49 Ix—2y—2z=-2
5x+ 6y +3z=062 2x+2y+2z=14
6x—S5y—1z=27 ox— ly—4z=15
Ix+1y—5z=-1 o 2x—3y—lz=-27
Ix+ 6y +2z=123 6x— 4y —4z = —46
6x—5y—1z=30 S5x=1y+5z=22
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T= oAb el 5

=t — IR R (axt+by+cz=d)

4
b gx—1y+52=49
S5x—=5y—4z=-5
S5x+6y—1z=>54
x=717
y=4
z=3
3. _
S5x—3y+4z=49
5x+ 6y +3z=62
6x— 5y —1z=27
x=17
y=2
z=3
Ix+ 1ly—5z=-1
Ix+ 6y +2z=123
6x— 5y — 1z =30
x=717
y=2
z=2

6.

H 1.

Ix—2y+4z=21
2x+5y—4z=121
6x+5y—1z=70

N2 =
I
SNEES IS

Ix=2y—2z=-2
2x+2y+2z=14
6x—ly—4z=15

N2 o=
I
N =

2x—3y—1z=-27
6x — 4y —4z = —46
S5x=1y+5z=22
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